TO BE PUBLISHED IN THE GAZETTE OF PAKISTAN EXTRA ORDINARY, PART-I

National Electric Power Regulatory Authority

NOTIFICATION



Islamabad, the day of July, 2022

(I)/2022.- In pursuance of Sub-Section 7 of Section 31 of the Regulation of Generation, Transmission and Distribution of Electric Power Act, 1997 (XL of 1997), NEPRA hereby notifies the revised decision of the Authority in the matter of adjustment of Calorific Value for the period July to September 2020 in respect of Attock Gen Ltd. in Case No. NEPRA/TRF-55/AGL-2006.

While effecting the Decision, the concerned entities including Central Power Purchasing Agency Guarantee Limited (CPPAGL) shall keep in view and strictly comply with the orders of the courts notwithstanding this Decision.

21 07 22

(Syed Safeer Hussain) Registrar



REVISED DECISION OF THE AUTHORITY IN THE MATTER OF ADJUSTMENT OF CALORIFIC VALUE FOR ATTOCK GEN LIMITED UNDER NEPRA (REVIEW PROCEDURE) REGULATIONS, 2009 REGARDING DECISION DATED MARCH 1, 2021.

- An inadvertent error has been identified in the Annex-I of the decision of the Authority issued vide No. NEPRA/R/ADG(Trf)/TRF-55/AGL-2006/10966-10968 dated March 1, 2021 pertaining to Attock Gen Limited in the matter of adjustment of calorific value for the period July to September 2020.
- 2. In pursuance of Section 7(2)(g) of the Regulation of Generation, Transmission and Distribution of Electric Power Act, 1997 read with Regulation 3 of NEPRA (Review Procedure) Regulations, 2009, the Authority has decided to replace Annex-I of the referred decision. The revised Annex-I is attached.

Authority

Rehmatullah Baloch

Member

Engr. Maqsood Anwar Khan

Member

Engr. Rafique Aprined Shaikh

Member

Tauseef H. Farooqi Chairman

Day ...

NEPRA AUTHORITY

Annex-I

ATTOCK GEN LIMITED

Calculation of Calorific Value Adjustment

S.No	Month	Period	Reference CV (BTU/lb)	Apporved FCC (Rs./kWh)	Actual CV (BTU/lb)	Revised FCC (Rs./kWh)	Difference (Rs./kWh)	Units Billed	Differential Amount
1	Jul-20	01-15 July 2020	18,328	9.2189	18,675	9.0476	-0.1713	33,178,635	(5,683,377)
		16-31 July 2020	18,328	9.7315	18,715	9.5303	-0.2012	26,972,198	(5,427,718)
2	Aug-20	01-15 Aug 2020	18,328	9.8185	18,725	9.6103	-0.2082	40,201,578	(8,368,679)
		16-31 Aug 2020	18,328	10.1775	18,695	9.9777	-0.1998	19,156,558	(3,827,359)
3	Sep-20	01-15 Sep 2020	18,328	10.7591	18,310	10.7697	0.0106	17,424,689	184,300
		16-30 Sep 2020	18,328	10.1123	18,635	9.9457	-0.1666	34,101,565	(5,681,110)
Amount Payable by AGL to CPPA (G)									(28,803,944)





National Electric Power Regulatory Authority

Islamic Republic of Pakistan

NEPRA Tower, G-5/1, Attaturk Avenue, Islamabad Phone: 9206500, Fax: 2600026 Website: www.nepra.org.pk, Email: info@nepra.org.pk

No. NEPRA/TRF-55//34/7-19

July 21, 2022

The Manager Printing Corporation of Pakistan Press (PCPP) Khavaban-e-Suharwardi. Islamabad

Subject:

NOTIFICATION REGARDING REVISED DECISION OF THE AUTHORITY IN THE MATTER OF ADJUSTMENT OF CALORIFIC VALUE FOR THE PERIOD JULY TO SEPTEMBER 2020 IN RESPECT OF ATTOCK GEN LTD.

In pursuance of Sub-Section 7 of Section 31 of the Regulation of Generation, Transmission and Distribution of Electric Power Act, 1997 (XL of 1997); enclosed please find herewith 'Revised Decision of the Authority in the matter of adjustment of Calorific Value for the period July to September 2020 in respect of Attock Gen Ltd.' for immediate publication in the official Gazette of Pakistan. Please also furnish thirty five (35) copies of the Notification to this Office after its publication.

Encl: Notification (3 Pages) & CD

(Syed Safeer Hussain)

- 1. Chief Executive Officer, Central Power Purchasing Agency (Guarantee) Limited, 73 East, AKM Fazl-ul-Haq Road, Block H, G 7/2 Blue Area, Islamabad
- 2. Syed Mateen Ahmed, Deputy Sectary (T&S), Ministry of Energy Power Division, 'A' Block, Pak Secretariat, Islamabad